
Турнир по решению шахматных задач (#2; #2; #2)

Ответы
№ Задание Решение

№1

XIIIIIIIIY
9-+-+-+-+0
9+-zp-+-+-0
9-+-+-zp-+0
9mK-+-+P+-0
9-+-+-+-zp0
9+-+-+Pmkr0
9-+-+-+Ntr0
9+-+-+RwQn0
xiiiiiiiiy

#2    6+7    С+

№1. А. Гуляев  [1952 г.]

1.Qa7!! zz (5)
1...K:g2 2.Qg1#
1...c5(c6) 2.Qg7#
1...R:g2 2.Q:c7#
1...Nf2 2.Q:f2#

№2

XIIIIIIIIY
9-+-+-+-+0
9+rsnN+-+-0
9l+-+-+-vL0
9+-+-+k+-0
9R+p+-sN-+0
9+-+-+Q+K0
9-+P+-+-+0
9+L+-+-vl-0
xiiiiiiiiy

#2    8+6    С+

№2. А. Гуляев  [1952 г.]

1.Qb3!! (угроза 2.с3#) (5)
1...c:b3 2.c4#
1...R:b3+ 2.c:b3#
1...Ke4 2.Qd3#

№3

XIIIIIIIIY
9-+-+-+nmK0
9+q+-vL-+-0
9-+-+-tr-mk0
9+R+l+-+-0
9-+-+-+PsN0
9+-+-sN-zP-0
9-+L+-zP-+0
9+Q+-+-+-0
xiiiiiiiiy

#2    10+5    С+

№3. И.И. Гегельский  [1931 г.]

1.Qh1!! (угроза 2.Nf3#) (5) 
1...Kg5 2.Nf3# 
1...R:f2 2.Nhg2#
1...L:h1 2.Rh5#
1...Lf7 2.Lf8#
1...Rf5 2.Ne:f5#
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